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Place les signes opératoires pour que l'équation soit égale a 10

15 3 o)
13,9 4 0,1
0,83 6 5,02




Place les signes opératoires pour que l'équation soit égale a 10

3 3,15 1,25

2,44 0,15 1,41

6,7 0,4 1,32




Place les signes opératoires pour que l'équation soit égale a 10

1,25 3,25 6




Place les signes opératoires pour que l'équation soit égale a 10

6,7 0,4 3,1

35 2 1,5

105 10 0,5




Place les signes opératoires pour que l'équation soit égale a 10

5,1 0,8 5,1

1,25 2 4

8,32 4 1,92
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